2< Vx<3E Vi< x< VIOIER 4 < x<9olt} matA

N

AL x=4, 5, 6, 7, 82 570t}




4=1+16< yx<5= 25
Sox = 17,18,19, 20, 21, 22, 23, 24, 25




AlEZe ol +v3, - V3

2 7fe|B& x = F4olL, + V3 & AlFT gk x =3 oJth




4. 712, A2o] Zol7t 2}z 2cm, Tem 1 AARZFR A}t Yo7 e AAL
7}eg o] gk o] Zolg ook

=
H -

| 2
> ®MEH: V4

. ‘
(HAZEB ] Hel) = 2x 7 = 14(em?) ©13,
o] gkat A AAZE Q] Yolw

l4cm? 7} E|ojof stH 2

x2 =14

S 5= \/ﬁ( x>0)




5. a<09 ™, /(-7a) & 23] vepfojeh,

> E

> ®HE:. —7a

V(=7a)? = V49a? = T|a| = -Ta




814 gk Aeleh wh ) Uehd 2

V35, /(-6 & 25 E A1§T
=7
@s. 6 @ 5 -6 ® 5, 36

@ 25, 36 ® 25, -36




7.

VG- 5P+ VBT x /L & 2l sty

o3 @ ®10 @15

4 2
V36 — /(=5)% + V81 x \/g=6—5—|—9x§:7




8. VIB+ V5P - V-9 & ATeh?

@9 @ 15 ® 18 @ 21 ® 27

V1694 /(-5)2 - /(-3)4=134+5-9=9




210




10. +0.009 = a V10 & i, a 2] 322

1 3 1 3 3
% 2% 9% Wi 9w
N 9 90 310
0.009 = 1000~ V 10000 ~ 100
e S
100




11. V180 -18a 7} A7} M5 she A4 a TolA 7P 2 =
M, 7F8 242 gke m o2t & w, Mm o] g5 F5tofzt

VI80-18a = /18(10-a) =3V2x VI0 —a
Vio-a= V24 W, a7t 7PF 2 32 7B R
a=3_8

Vio-a= V8 4 o, a 7} 7P 22 g2 i B R
a=2

M =8, m=2 o]t}

webA Mm = 16 ©|t.




12. V960 - 32a 7} B47} H 25 Sf= A4S a FolA 7P 2 a2 M,
7V 2 e m ot & ul, M - 2m o He?

D1 @ 2 3 4 @6 ® 8

V960 — 32a = /16(60 — 2a) = 4 V60 — 2a
60-2a=0< ], a = Ff
60-2a =36 <L, ax A

60 60 — 36
M—7—30,m— B =

M-2m=30-2x12=6

12




